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network engineering team is interested in deploying NAC within the enterprise network to enhance security. What deployment

model should be used if the team requests that the NAC be logically inline with clients? A.    Layer 2 in-bandB.    Layer 2

out-of-bandC.    Layer 3 in-bandD.    Layer 3 out-of-band Answer: B QUESTION 62Which authentication framework is used in

wireless networks and point-to-point connections? A.    EAPB.    L2TPC.    TKIPD.    PPP Answer: A QUESTION 63What is one

reason to implement Control Plane Policing? A.    allow OSPF routing protocol to advertise routesB.    protect the network device

route processor from getting overloaded by rate limiting the incoming control plane packetsC.    allow network devices to generate

and receive packetsD.    protect the data plane packets Answer: B QUESTION 64Port security supports which type of port? A.   

SPAN destination portB.    EtherChannel port-channel portC.    nonnegotiating trunk portD.    DTP-enabled trunk port Answer: C

QUESTION 65Which protocol is required for end-to-end signaling in an IntServ QoS architecture? A.    RSVPB.    DSCPC.    ToS

D.    LLQE.    DiffServ Answer: A QUESTION 66Which three options are benefits of using VRFs within an enterprise network?

(Choose three.) A.    simplifies configuration and troubleshootingB.    enables partitioning of network resourcesC.    enhances

security between user groupsD.    provides additional redundancy at Layer 3E.    allows for routing and forwarding separationF.   

improves routing protocol convergence Answer: BCE QUESTION 67Which option is a common cause of congestion found in a

campus network? A.    input serialization delayB.    output serialization delayC.    Rx-queue starvationD.    Tx-queue starvation

Answer: D QUESTION 68Which two protocols are used for high availability in enterprise networks? (Choose two.) A.    BGPB.   

GLBPC.    RSTPD.    VRRPE.    OSPF Answer: BD QUESTION 69Which three major points are important for network

virtualization to separate logical networks on a shared physical infrastructure? (Choose three.) A.    VLANsB.    data planeC.   

control planeD.    VPNsE.    VSANsF.    management plane Answer: BCF QUESTION 70Which VRF component ensures control

plane separation between the different Layer 3 VPNs? A.    FIBB.    routing protocol instanceC.    RIBD.    a subset of the router

interfaces Answer: B   !!!RECOMMEND!!!     Braindump2go 2016/08 New Cisco 300-320 ARCH Exam VCE and PDF 332Q&As
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